—

A O N

0o N O o

10
11
12

13
14
15
16

AIFASE2E BB D EZHvh—K£2023 U-12<F8B)—THEHR>
4F—LARIZH T =T 8k

ZHA26BI F THRBTA~
Af
ZHEFC A HEKIJO £HB a¥x B [PKEs|PKA| B (BR|FX| RS IE
ZHEFC A 0o - 1112 0|18 - 0| 2| 00| 1] 8[24|25] 2
HEKIJO 1 - 0 10 - 0|1 - 0300 O0]12(1212] 1
SHB 0O - 1210 - 10 0 - 3(0[(0]0|3|[O0]|=25|0]{4
pa=Es o - 1310 - 1|13 - 0 1100 2] 4 |-11[3 |3
B
—EFCA HPENFC ik green B |PKES(PKA| B Bim|F K|S IEAL
—EFCA i - 0]5 - 0]5 - 1(3|]0]0|O0(f12]110])11] 1
#ENFC |0 - 1 0O - 3|5 - O0f1|]0|0(2|4])1]|5]S3
Bk O - 5|13 - 0 2 - 112]10]0f[1[8]|-1]5 |2
green 1 - 510 - 5|1 - 2 0|]0]0|3|[0(|-10]2] 4
c#
S7)yo SFILFC 215 B B |PKEE(PKE| B (B F K115 IEAL
7)o 5 - 0|1 - 0]14 - 0]3|0[0]0]|12(20]|20] 1
SFILFC 0O - 5 2 ki3 210 - 2(010)1]2(1]|-7]2] 4
2 0 - 1] 2 P31 2 5 - 0| 1[1]0]1([6]|4]7]|2
=Fi:3 0O - 142 - 0]0 - 5 110|102 4(-17]2 |3
D#f
SHA Mm% Z2HEFCB| —EFCB | B |PKBS|PKE| 8 |85 K| 5| Bk
SHA i - 07 - 09 - 03|00 O0]|12)17 (17| 1
wMZ o - 1 i1 - 0|1 - O0|]2(0|J0)|1]8(f1T]2]2
ZHEFCB|O0 - 7|10 - 1 5 - 1]11[(0]0])2(4|-4]5]3
—=EFCB [0 - 9|0 - 1|1 5 o|lo|O0|3]|0(-14]1]4




